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12 

ଶǤହ

Complete methods 
3.60 ÷ 2.5 × 3.5 
or 3.60 ÷ 5 × 7 

or 3.5 ÷ (2.5 ÷ 3.6) 
or ଷǤହ ൈ ͵Ǥ͸ 

5.04 M1 

A1 

for a correct first step to find the cost of a unit of weight (eg. 1 kg or 0.5 kg) 
eg 3.60 ÷ 2.5 (= 1.44) or 3.60 ÷ 5 (= 0.72)  
or a complete alternative method 

for 5.04 (accept £5.04p) 

or ͵Ǥ͸ ൊ�ଶǤହ
ଷǤହ
� 
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8 36 M1 for method to find cost of 1 kg, eg 54 ÷ 3 ሺൌ ͳͺሻ  
or 54 ÷ 3 × 2 oe 

A1 cao 

Q1

Q2
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IRU�VWDUWLQJ�WR�ZRUN�ZLWK�SURSRUWLRQ��
HJ�����·������ ������RU�����·������ ������
OR�����·����� ���������RU�����·������ ��������
OR����·������ �������RU����·������ �������
RU������·����� ������RU����·����� ������
RU������·���� �����RU����·���� �������
OR�����·����� ���������RU�����·����� ���������

IRU�D�FRPSOHWH�SURFHVV�WR�ZRUN�RXW�WKH�FDORULHV�LQ�HLWKHU�LWHP��
HJ��³���´�î����� �������RU��³���´�î����� ��������
OR����·�³������´�� �������RU����·�³������´�� ��������
OR�³����´�î����� �������RU��³����´�î������ ��������
RU���³���´�î���� �������RU��³���´�î����� ��������
RU���³��´�î���·���� �������RU��³����´�î���� ��������
OR����·�³������´�� �������RU�����·�³������´�� ��������

�GHS�RQ�3���IRU�D�FRPSOHWH�SURFHVV�WR�ILQG�WRWDO�QXPEHU�RI�FDORULHV�LQ�WKH�
EUHDNIDVW��HJ��³����´���³�����´��

IRU�������RU�����

Q3
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15 7 P1 

P1 

A1

P1 

P1 

A1 

for 750 × 9 (=6750)  

or 1 + 9 (=10) 

or 750 ÷ 1000 (= 0.75) 

(dep) for “6750” + 750 (=7500) 

or for “10” × 750 (=7500) 

or “0.75” × “1 + 9” (= 7.5) 

 cao 

Alternative 

for 100 + 900 (= 1000) 

(dep) for 750 ÷ 100 (= 7.5) 

cao 

This can be implied by  
(1 litre of drink =) 100 (ml) of squash and 
900 (ml of water) 

Q4
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IRU�����î���·���RH�

FDR�

�E�� VWDWHPHQW� &�� 6WDWHPHQW�WKDW�HDFK�WDS�ILOOV�DW�WKH�VDPH�UDWH�RU�WKDW�WKH�UDWH�GRHV�QRW�
FKDQJH�RYHU�WLPH�
([DPSOHV�
Acceptable responses: 
7DSV�DUH�UXQQLQJ�DW�WKH�VDPH�VSHHG�
7KH\��FOHDUO\�UHIHUULQJ�WR�WDSV��DOO�ILOO�WKH�SRRO�ZLWK�WKH�VDPH�YROXPH�RI�ZDWHU�
7KH�DPRXQW�RI�ZDWHU��LV�WKH�VDPH�LQ�WKH�VDPH�WLPH��DJDLQ�UHIHUULQJ�WR�WDSV��
(DFK�WDS�LV�GRLQJ�D�ILIWK�RI�WKH�ILOOLQJ�
7KDW�DOO�WDSV�WDNH�HTXDO�WLPH�WR�ILOO�WKH�SRRO�
$OO�WDSV�SURGXFH�WKH�VDPH�DPRXQW�RI�ZDWHU�
7KDW�WKH�ZDWHU�IORZ�VWD\V�DW�WKH�VDPH�UDWH�RYHU�WKH�ZKROH�WLPH��

Non acceptable responses 
,W�ZLOO�WDNH�PRUH�WLPH�EHFDXVH�WKHUH�DUH�OHVV�WDSV�
7KH�OHVV�WDSV�XVHG�WKH�ORQJHU�LW�WDNHV�WR�ILOO�WKH�SRRO�
7KDW���WDS�FDQ�WDNH�XS�WR����PLQV�HDFK�
��WDSV�ZLOO�WDNH�ORQJHU�WR�ILOO�WKH�SRRO�

$Q\�VWDWHPHQW�UHIHUULQJ�WR�WKH�VDPH�DPRXQW�RI�
ZDWHU�IORZLQJ�IURP�HDFK�WDS�LV�DFFHSWDEOH��

Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

16 2 P1 

P1 Accept 12 ÷ 6 as a full process 

A1 

for a calculation from within the list 4 × 12 ÷ 4 ÷ 6 eg  4 × 12 (= 48) or 
12 ÷ 4 (= 3) or 6 ÷ 4 (=1.5) or 4 ÷ 6 (= 0.66..) 

fRU a cRPSOeWe SURceVV, eg (³48´ · 6) · 4 or for ³0.6̇´ î 12 · 4 

cao 

Q5

Q6


